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1 — AE = K ER FEEFEM e 2 SEEES KR 783 6.2 2 16 1 2.2 0
2 — A#LN5 AR RETEHET FHRAXR =2 HERS KR 800 6.5 1.8 15 1 2.5 0
3 = RS BHE AIEER T R 2 FEABERH KR 776 6 2 15 1 24 0
4 Y RIS HEKER BEZE TRt NA =2 LS KR 753 6 16 16 1 2.5 0
5 Eal el BEY) K ER RIS 2 & EhEE KRBT HEFIEAKE KR 839 6.5 15 15 1 2.2 0.5
8 — EIERETE - O 1 IER PR FEFARAKRTT 2 AERANS KR 786 6.2 2 1.7 1 2.2 0
9 — ERERS FER A AR B 2 ESiEag] KR 776 6.5 16 15 1 2.3 0
10 = FEEARM BHE BRIWAKEB FARE ==V 2 HERKES KR 776 6 2 15 1 24 0
11 g AR5 HEKER REVBES IR =2 BR0G5 KR 764 6.2 15 1.8 1 2.5 0
12 h el - BEY) HEKER =MEIET B FENE PiER R FANSE ;310 KR 839 6.5 15 15 1 2.2 0.5
15 — e - S8 =P NN I FTH0%E EYS) =2 M EICS KR 795 6.4 2 15 1 2.2 0
16 — BRBIERS I ER SEH#D MEIG B =2 AE =V KR 774 6.5 16 16 1 2.2 0
17 = N BHE EHiEHER SHBESRAER 2 EEHG KR 779 6.2 1.8 15 1 2.5 0
18 g HXS5ER HERER EtHEARAR KB 2 BEEEES KR 761 6 1.8 15 1 24 0
19 h el B HEKER wBFEST IBHEE BESER INKREES S KR 818 6.2 15 15 1 2.2 0.5
22 — Rups - O I ER BEERH A=t =2 IR EICS KR 786 6.2 2 1.7 1 2.2 0
23 — HAEERAS iR A0 DER 3 2 iS50 15 =2 REEHE S KR 774 6.5 15 1.7 1 23 0
24 = BRI HE BIBARR BEEEA 2 AE KR 753 6 1.6 1.6 1 2.5 0
25 g Birim HERER JEZHHE fig)c=1=a =2 EXKES KR 775 6.2 1.6 15 1 24 0.1
26 h el - B9 HEKER WETFR HEEWE & Rk TSNS KR 818 6.2 15 15 1 2.2 0.5
29 — Tt - G HEKER NFRE RS R 2 KBEOHS KR 795 6.4 2 15 1 2.2 0
30 —_ BIREN S TR SiCEz iR /IELSES =2 EL e KR 774 6.5 1.6 16 1 2.2 0
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